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Do all problems on a separate picce of paper. Show your work. Each problem
1s worth 8 points.

(A pants) 1. Determine which of the following matrices are invertible, and if they
are invertible find the determinant and the inverse.
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(b) Find the area of 74(S). where Ty : R2 — R2? is the linear trans-
formation defined by the matrix
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answer the following questions.

(a) Find a basis for the column space of A.
(b) Find a basis for the null space of A.

(c) What is the rank and what is the nullity of A. rfank = <, nu“\'b =7
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(a) If the column vectors of a matrix A are linearly independent, then
the determinant ol A is not zero.

(b) The matrix A can be one-to-one, but not onto.

(¢) The number of pivots of A equals the nullity of A.
(d) It can never happen that AB = BA.

(

e) It can happen that A is not invertible, but AB is invertible.
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